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% Percentaqes %
iMZ SO[VC reason'mg Problems ITO J."LnCl 250/0, 500/0 and 750/0 OJ.' zﬁ

% an amount. %
%% ) Miss Hackwood is given £750 for her birH‘»daB. She saves %%
*

% 500/0 OJT ilT. HOW much ClOCS she SOVC?

% 2) Miss Johnson is 9'wen £368 for her birthdaﬂ. She saves 50% %
%% of it. How much does she save?

%% 3) Miss Doso,njh Is 9'wen £456 for her bierclaB. She saves 50%

i OJ.‘ it. HOW much dOCS she SOVG?

k) Miss Hammond is 9'wen t67k for her birH‘»dag. She saves
%% 50% of it. How much does she save?

% 5) Mr Shokes is given £878 for his birchlo,Ej. He saves 50% of 13
%% How much does he save?

%%

% 6) A ITOO,SITCI“ COSLS E24q2 HOW mu,ch WOU[CJ, a 250/0 saving be?

%%
e 1) A keltle costs £3316. How much would a 25% saving be?

%% 8) A go,me COSITS E4740 HOW mu,ch WOUld a 250/0 saving be?
e ATV costs £22756. How much would o 25% saving be?

% IO) A lO,PI70P COSI7$ £356q2 HOW much WOU[CJ, a 250/0 saving beP %
g g

%% %%
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zEMI SO[VC reasoning Problems ITO find 250/0, 500/0 and 750/0 OJ.'

% an amount.
%% I A Po,ir of brainers costs £2356.

%% HOW much WOUld a 750/0 so,ving bep

F12) A coat costs £35.64.
%% HOW much WOU[CJ, a 750/0 so,v'mg bep

j&i 13) A game costs £61.88,
% HOW much WOU[CJ, a 750/0 so,v'mg bep

e 14) A Samsung tablel costs £187.68.
HOW much WOU[(J, a 750/0 so,v'mg bep

i 15) A soga costs £635.44.
HOW much WOUlCl a 750/0 saving bep
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